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TNPSC Group 2 Model Question Paper 10

General Studies

1. If2x =3y =4zthenx:y:zis
(A)3:4:6 (B)4:6:3
(C)6:4:3 (D)2:4:3
Ans-(C)6:4:3

2X =3y =4z aafl6d XY :Z etehiLg

(A)3:4:6 (B)4:6:3
(C)6:4:3 (D)2:4:3
Ans-(C)6:4:3
2. LCM and HCF of two polynomials are x°— 1 and x + 1 respectively. If one of the polynomial is x*+ 1 then
the other polynomial is
(A)x*-1 (B) (x*~1) (x+1)
(€)x*-1 (D) (X"~ 1) (x + 1)

Ans - (B) (xX*~ 1) (x + 1)

@n usepiys Gstemeussilsn 15.6uro (LCM) wip @f.Gures (HCF) sydwenr apsopBu x-1
wpsId X+l Sy@bh. 9m Gsremen X +1 aaflsd WHOBT®H Goreney 615?

(A) x*-1 (B) (X}~ 1) (x +1)
(C)x°-1 (D) (x*-1) (x + 1)
Ans - (B) (*~1) (x + 1)

3. The chairman of the 14™ Finance commission is
(A) C.Rangarajan (B) Y.B.Chavan
(C) Y.V.Reddy (D) Vijay Khelhar

Ans - (C) Y.V.Reddy

l4-euml BHFH Gupalen Hemeveur wWmir?

(A) C. prusyreges (B) Y.B. Fourein
(C)Y.V. Qriig (D) a0gu1 Gesvasit
Ans - (C) Y.V. Qri_ig

4. The chemical mainly responsible for the car-air bag reaction is
(A) NH;NO3; (Ammonium Nitrate ) (B) NaN3 (Sodium Azide)
(C) KNO; ( Potassium Nitrate ) (D) SiO, ( Silica)
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Ans - (B) NaN; (Sodium Azide )

wApey o haelsd o siten STBLIL muuisd BLEGWD GCouglelmendg We (WwhHawiworer  Gaugluiuwsd

Quimmeit
(A) NH;NO;3 (oubGomesflwib enpl Gyr) (B) NaN3 (Gamguib siguil’)
(C) KNOg3 ( Quimt Lrfluwib) (D) SiO; ( #eder)

Ans - (B) NaN; (Ggmguid ojeui)

5. Political mentor of Kamaraj was
(A) V.O. Chidambaram Pillai (B) Gandhiji
(C) Bharathiar (D) Sathayamoorthy

Ans - (D) Sathayamoorthy

sTografel AL Gm 61603 SHHSLILBLISUT

(A) sue_Asibuyd Lsiever (B) s1p529
(C) unygwnir (D) e3wapiss
Ans — (D) sd5apiHs
6. Justice Party Published Tamil Newspaper called
(A) Justice (B) Dravidan
(C) Andra Prakasika (D) Maratha

Ans - (B) Dravidan
bHd & & Geeful L HOp ubHfdbenaulet LT
(A) easroigerd (B) gymeilLesr
(C) aupsly dsndlsm (D) wyrd o
Ans — (B) #rmeeir
7. Abolition of bonded Labour Act was passed in which year?
(A) 1977 (B) 1976 (C) 1978 (D) 1979
Ans - (B) 1976
CETHBHYMD QHTHEOTENT (B @SS FLLID OSTemi(h euyll L Suewi® 61517
(A) 1977 (B) 1976 (C) 1978 (D) 1979
Ans - (B) 1976
8. The National Research Center on Plant Biotechnology and Research was established in
(A) 1985 (B) 1995 (C) 1987 (D) 1990
Ans - (A) 1985
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Carfw smauy o ulitpI_ueluisd eusnTFd OBMID SYJTUIFS DOWID 61HFH B HmieulI L g?
(A) 1985 (B) 1995 (C) 1987 (D) 1990
Ans - (A) 1985

9. Which are the “Four factors of production™?
(A) Rupee — Dollars — Euro — Yen (B) GNP — NNP — GDP — NDP
(C) Land — Labour — Capital — Organization (D) Rent — Wage — Interest — Profit

Ans - (C) Land — Labour — Capital — Organization

“BIeiIE o _MuUSHHEH STJellden” 616l DIMPSHLILIGISH] 61517
(A) epumuts - LmeoT - FGym — Gutem

(B) GNP — NNP — GDP — NDP

(C) Bevid - o _emipli] - cpeoHeId - GHTIH6L (LpenestGouit
(D) eumpid - esrgduid - euly - Ee0TLID

Ans - (C) Meotd - 2 _emipli] - cpeoGeld - GBMNsd (penerGeuit

10. Indias Human Development Index (HDI) stands Rank out of 188 countries in 2016
(A) 121 (B) 131 (C) 141 (D) 151
Ans - (B) 131

2016 0 syevingBamer ellg euenm G B &PuiG &5 suflengullst 188 mBTEHeMsL @bBHWIT  -----mmmmmmmm-
U BL SIS

(A) 121 (B) 131 (C) 141 (D) 151
Ans - (B) 131
11. The distance to be covered by second phase of Chennai Metro Rail project will be
(A) 107.5 km (B) 100 km (C) 124 km (D) 140.5 km

Ans - (A) 107.5 km

OFsitement QoL Gym @guied S L SHFHeT SrewiLmd &l L LewldbsTs BHiTey QFUIWINI L UTenHUNe HITID
(A) 107.5 &8 (B) 100 &5 (C) 124 &8 (D) 140.5 &8

Ans - (A) 107.5 &8

12. Sakravarthi Thirumagan was written by whom?
(A) Barathiyar (B) C. Raja Gopalachari
(C) Subramaniya Siva (D) Ramalinga Adigal

Ans - (B) C. Raja Gopalachari

FEHBTUTHS H(HLOSH 61613 [BIEN60 6T(WieuT wmir?
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14.

15.

16.
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(A) umggwit (B) C. @rrea@asrumevggmflwimt

(C) atigwossfiua Heur (D) @ymiosdmis SigHsit

Ans — (B) C. @yre@asmumsoggmflwimi

The Aligarh movement was started by

(A) A.O. Hume (B) Sir Syed Ahmedkhan
(C) Bal Gangadhar Tilak (D) Jawaharlal Nehru
Ans - (B) Sir Syed Ahmedkhan

SIBTT QUIBHHMBH CHTLBIEWIEIT

(A) A.O. afly o (B) &1 evFwH DiBLOSHIHT6HN

(C) utev BHIBTHT HovsHi (D) meuamirevmsd Gm(.

Ans — (B) T engwisl DIBLOSHIHT6T

In which Ocean Hurricanes are very common?

(A) Pacific Ocean (B) Indian Ocean

(C) Atlantic Ocean (D) Artic Ocean

Ans - (C) Atlantic Ocean

aniTfl&CHsiise FHHD CHTHBL HL60 61517

(A) ufls QuEHEIBL 6960 (B) @bslw Qu(pkisL 6060
(C) o evremngss GUEHHIBL 6060 (D) eyingss QLipmIsL 6860
Ans - (C) s eumewigd GLIBBISL 6060

Bamboo and Lianas trees are found in which type of forest?

(A) Tropical monsoon forests (B) Shrub and Thorn forests
(C) Tropical evergreen forests (D) Mangrove forests
Ans - (C) Tropical evergreen forests

APHIBIEL DBMID 6VUISHTEND LDJHIGH6IT  sIeIINBUITE HT(BH6ils0 SrewribaBas?
(A) GeuLILIDETIL 60 LIHeUSEHTHBHI HTBHH6I (B) amimist® wBmid (pULST STHE6IT
(C) QeulILIDeRTL 60 LIGEHID LOTBTE  SBIBEH6IT (D) i@ Gymei &BI{HHSIT
Ans — (B) @pimisn(® wBEmid (pLUST STGS6IT

A cylindrical shaped well of depth 30m and diameter 28 m is dug. The dug out soil is evenly spread to form
a Cuboid-platform with base dimension 30m x 28m. Find the height of the plat form

(A) 44m (B) 33m (C) 11m (D) 22m
Ans - (D) 22m
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28 1§ el L(pb oBLBID 30 15 SYIPD 2 66N @@ Hewiml 2 [Hewen algalsd Gaul LULBGSBH. Diseurm)
Gau B> Bumkl Bpmewng eT(BAEBILLL  wewt  Fyrses ugluiul G 30 18 X 28 15 oeneseied
IIYLLGHIOTHE QBTEWIL @H HOF6UaIs G UWITS DIENDSHSLILILLT60, HDGsnLulel 2 wirn wrg?

(A) 44 15 (B) 3315 (C) 1115 (D) 22 18
Ans - (D) 22 8

If you write all the numbers from 1 to 100, then how many times do you write 3?
(A) 20 (B) 19 (©)11 (D) 18

Ans - (A) 20

1 (pHev 100 o6ueHJ  6T606VT  6IEIIHENGMUID  6T(PHID  CUTEHI 3 61608 6T6IIENEI  6THSHEME  (LPEmM
eT(LpSI6TE6IT?

(A) 20 (B) 19 )11 (D) 18

Ans - (A) 20

According to Union Labour Minister Bandaru Dattaterya ‘the humble gift to women’ is
(A) Women has Right to Parental Property Act

(B) Harassment in work places (Prevention) Act

(C) Domestic Violence (Prevention) Act

(D) Maternity Benefit (Amendment) Bill

Ans - (D) Maternity Benefit (Amendment) Bill

WwHFHW CQFHmPeorent LOHAMN LTILT®H HHHTHETWT FaBuIlily ‘CUedEhHHTen slemiul Lfle” eTegl
(A) QuetiisEndsTer (LPaIGamT QFTHael WHTen 2 MNennFaL L ID

(B) Gausmev GFuiujd B miseiled HISILNILGSHSILUGH SHLILE FLLID

(C) suchiGasm@enio HHUILF FLLID

(D) Gumistev LWSLTGSET HHBHHF FLLID

Ans — (D) Gumistev LWGLTBSET HHHHF FLLID

India’s longest highway tunnel is

(A) Maliguda Tunnel (B) Pir Panjal Tunnel
(C) Banihal Tunnel (D) Patnitop Tunnel
Ans - (D) Patnitop Tunnel

AbHwTelBs0Bul & HETOTET FTeNeD GBIl LITenS

(A) wed@LT GmaliuTens (B) it ughsTed @GEMBLILTENS
(C) uallsmed GHemsIUTENS (D) ul el @enslurend

Ans - (D) ulefllLml @Geamasliunems
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The bacterium which shows symbiotic relationship with root nodules of legume plants is
(A) Rhizobium (B) Anabaena (C) Nostoc (D) Azolla
Ans - (A) Rhizobium

Gevanid HTaugmiseilen GeuT (WFHiseled Fnl BUIT euTDHMBMUW GLoBOIHT6TEHID Limdleflwim
(A) soyGamuiuwib (B) sieorifeorm (C) preroLmés (D) o18amsv60m
Ans — (A) engBGamuiwid

Arrange the following in ascending order based on number of carbon atoms present in it
I. Erythrose phosphate

I1. Phospho glyceraldehyde

I11. Sedoheptulose phosphate

IV. Ribulose phosphate

(A) 1, 11, 11, 1V B) 11, 1, IV, Il

O LI v D) I, v, 1, 1

Ans— (B) II, 1, IV, 1l

&0 CBETHSLILL [BH6ToeNd DUFH60 DL MISU|ETeN  HITUST DiemidbHerlle slemremndbendulledl  DiglitienL_ullsd
g eflengulsy auflensliLpsHais.

l. el &HBymerd LmerOGLIL

1. urevBur SHellFgTevigemanh

. GsLr GamiiGGsomerd LmeroGLIL

V. iyBsumerd LmerdGLIL

(A) L v B) I, 1, 1V, 1
© L, v D) H, v, 1,
Ans—(B) II, I, IV, 1l

Ifa, b, c, I, marein A.P. then the value of 2a —b—-2c -1 + 2miis

(A1 (B) 2 ©)3 (D)o

Ans - (D) 0

a,b, ¢ |, mesiiuen el BH GOsTLir aflensuleo Gminidesr 2a—b—2¢c—1+2m=
A1 (B) 2 ©)3 (D)0

Ans - (D) 0

The price of 2 sarees and 4 shirts is Rs. 1,600 with the same money, one can buy | saree and 6 shirts. If one
wants to buy 12 shirts, how much shall he have to pay?
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(A) 1200 (B) 2400 (C) 4800 (D) 3600
Ans - (B) 2400

2 ULewel LoBmId 4 FLewl g Hlewisemen OQorsHgk ellewsv epumul 1,600. B6%H apumuisd 1 LLemeu LoBMID
6 FlenLdh FHleWenl 6GUTRIGEVTD 6Teiled, 12 FLedL G Hlenllden LB 6UTHIS 616666  LISWID
CapsmauliiBLd?

(A) 1200 (B) 2400 (C) 4800 (D) 3600
Ans - (B) 2400

The High court Judges retire at the age of

(A) 65 (B) 61 (C)63 (D) 62

Ans - (D) 62

o WThd e BHuSHsellen LUBHe] @uley GUXBID UG eIFIDL

(A) 65 (B) 61 (C)63 (D) 62

Ans - (D) 62

Name the first women President of India

(A) Smt. Fathima Beevi (B) Smt. Pradeep Devi Sing Patil
(C) Smt. Annie Besant (D) Smt. Sarojini Naidu
Ans - (B) Smt. Pradeep Devi Sing Patil

@bAwirellen (pHedt GLiewr ermglugs wimir?

(A) Hmod. yrsgor 1 (B) Amwd. Jrahur Csell Hm U iged
(C) Hmwd. oieiefl GQuEFeL (D) mog. #Grmeden mHTWG
Ans — (B) #mpwd). Jrdur Cxell HAm LM iged

Bordeaux mixture is

(A) CuSO,+ Ca(OH), (B) CuSO, + CaCl,

(C) ZnSO, + CaCl, (D) ZnSO, + CaCl,

Ans - (A) CuSO,+ Ca(OH) ,

GUTTLTEHerd H6v6me  616ITLIGHI

(A) CuSO,4+ Ca(OH), (B) CuSO, + CaCl,

(C) ZnSO,+ CaCl, (D) ZnSO, + CaCl,

Ans - (A) CuSO,+ Ca(OH) ,

Which statement is correct?

I. Wohler synthesized organic compound (urea) from an inorganic compound ammonium cyanate.
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I1. Wohler synthesized inorganic compound (urea) from an organic compound ammonium cyanate.

I11. Wohler synthesized organic compound (urea) from an inorganic compound ammonium isocyanate.
(A) I'and HI (B) Iland 11 (C) land 1l (D) I only

Ans - (D) | only

gilwmenr elenLsnuwl CHTHOSH0H

I. Gaumevlr, wyflwim ereiienid &fiog GgFmosHemmd SiupGwrefluid FuiBsi B e6iB Hefind  GFTodHHeIHhH
Wi GHmT

Il. Goumevr, wfwr eeiienid HaiioF GFToHemsd DCwreflwibd FwBsi' B o6 &foF BFTind 60 ®HbIHI
SWMTM HSHIT.

. Geumeor, wyfwr eeiemid &fiog  GamoHewsd  bGwomeiwid MCFrFwBa (h  6160B  HelloF
CaTod&Helmbal HWTAHSHTT.

(A) I wpguo 111 (B) Il opmio 1 (©) I oimup 11 (D) I wot_®o
Ans - (D) | @0

From a circular card sheet of radius 14cm, two circles of radius 3.5cm and a rectangle of length 3cm and
breadth |1 cm are removed. Two identical right triangles whose legs are of length 3cm and 4cm are joined.
Then the area of the newly formed card is

(A) 548cm? (B) 616cm? (C) 708cm? (D) 748cm?
Ans - (A) 548cm?

14 QF15 b 2 6o el L elgel S enLulsd Qmba 1 3.5 OF.15 Jb 2 siten QFewmi(h eIl L MISELD,
3 GF.15 pemupld 1 0F.15 SiHeVPD OFBTemIL @ OFeueusupd Geully ellG, 3 0F.15 wWBBID 4 QF.15
BTe0H6IT  OdmewiL.  GFmlsTem  (PpHCHTewmIGT GSJewi®  RemewISSLILIL LT  LUHHTH 2 HUTGLD
S emL_ufledt LFLILISTS)| 6T65T60?

(A) 548 QiF.15° (B) 616 Q.52 (C) 708 Q.52 (D) 748 Gg.8°
Ans - (A) 548 Gg.15°

Who won the China open badminton super series tournament on November 20, 2016?
(A) P.V. Sindhu (B) Joshi (C) Sar Jubala (D) Carlsen
Ans - (A) P.V. Sindhu

BoubLT 20, 2016 @60 Feumallsd BOLOUBB (WpHeiewio  euflend LlUubSTL L Gumiguisd  Gleumns
QuBmeuiT wimir?

(A) W.el. Absl (B) Gegrend (C) et sumevm (D) snitevG&sir
Ans - (A) U.ef. Absl
The Tamil Nadu Poompuhar won the National E-Governance for Silver Award in 2016 — 17

(A) Artistic Handicrafts sales (B) Large Number of Handicrafts display
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(C) Customers service (D) E-Governance

Ans - (D) E-Governance

SOBTH  LbYsTT  Himeuerd  2016-17  syewngBasren  CaFwl  106eenl Y EHenBHEBTR  ClausiTer

UHEBHMS 6lbH CFemeudbsrs Osueimg?
(A) smeopuIileas eaalenel GUITHL &6l ellBLene
(B) o185 ereuitenflsensuiey enselleneiil GQUITHL &6 S ddanl 1D SIGHLOLIL
(C) aumgsemawimenit GFemel
(D) 10ssiengn1 <y 6mhem S
Ans — (D) \siisnien <p6mend

32.

33. Pressure cooker are based on the principle that
I. The boiling point of liquid increases with increases in pressure
I1. The boiling point of liquid decreases with increases in pressure
I11. The boiling point is constant

Which of the above is correct principle

(A) 1only (B) 1l only
(C) Hl only (D) I, Il and 111 wrong
Ans - (A) | only

WSS FemwwBEevsT Geueney GFUILID SHoHHleUD
l. Ayeusdsii DRSS 2 WHDLEUTIRE C&TH Hensou|ld 2w
Il. Hyousdlen PSSO 2 WGHDLOUTIRSH CBTE Hemsd GHemBUILD
. Gsramlensy LOTBIS).
CofeemrL_summle 61g Fhuimen SHHHIOND S E&LD?
(A) I @G (B) 1l @i (C) HI @ D) 1, 1l opmio H seum
Ans - (A) | @

34. Find the missing term
MK :169/121 :: JH : ?
(A) 100 /64 (B) 100/81 (C) 64/120 (D) 81/100
Ans - (A) 100 /64
all(BUL_L  eTeuitenemt  Hevl(BLILg.

(A) 100 /64 (B) 100/81  (C)64/120 (D) 81/100
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Ans - (A) 100 /64

35.  Solution of (x — 2/x+ 2)* + 3 = 4(x — 2/x + 2) ; X is not equal to -2 is
(A)x=1,x=3 B)x=3 C)yx=-4 (D)x=1
Ans - (C)x=-4

(X—2/x+2)2 +3=4(X—2/X + 2) ; X = -2 sT6MB  FloGHLTL 965 &6y

(A)x=1,x=3 B)x=3 C)yx=-4 (D)x=1
Ans - (C)x=-4
36. With which country, dose China describe it’s ties, as ‘iron brothers’?
(A) Sri Lanka (B) Nepal (C) Pakistan (D) India

Ans - (C) Pakistan

61 BT BLETTEN HedH 2 mewel Feum ‘@b FCHTHITH6T 6lem Uo7

(A) Reomiens (B) Gpumemd (C) uraerogmedr (D) @pgswim

Ans — (C) urderog et

37. Consider the statements

Assertion (A) : National Girl Child Day is celebrated on 24" of January every year in India.

Reason (R) : Itis to raise awareness among people that boy child is not always a blessing.

Choose your answer from the option below :

(A) (A) is wrong but (R) is correct explanation

(B) (A) is correct and (R) is wrong explanation to (A)

© (A) and (R) are correct. But (R) is not a correct explanation to (A)

(D) Both (A) and (R) are correct and (R) is correct explanation to (A)

Ans - (B) (A) is correct and (R) is wrong explanation to (A)

HIDHBEMT_ FnBBIHN6H HEIGHSH

aamm (A)  @hAwrelsd @eiGeur B meeufl 2410 BT QU GLHMHSH6T Heurid
OmemTL TG SBS

srgemid (R) e Gbg eioUTEID QT HATOITHID i6060 6l6dB MO ILIEITEN6U
0HH6T 1DHHUND gBLUBSHBIONH EFHer GhTaHasID

&6 CaEThHHBIUL L GBuibseillsd @mba Flwmer el emul GHTHOSHG.

(A) (A) saum syemmed (R) @ gflwmes eflendasid

(B) (A) & wmmib (R) (A) saeren gflwmer efenébsld Sis06v.

(©) (A) wvBpie (R) @y oM. oemsv (R) (A) domen aflwmen elendad Sis06v.
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(D) (A) wpmid (R) @yewieo &f Guwsuid (R) (A) daren gflwimer ellendgsid o@ib.
Ans- (B) (A) sfl wspid (R) (A) ssmer gflwmer ellendsd ois06v.

Who was called “Light of the world”?

(A) Nurjahan (B) Mumtaj (C) Shajahan (D) Humayum
Ans - (A) Nurjahan

o eudlell gofl 6T6m DIMPSHSBLILIL L 6)T?

(A) Briregameir (B) wivsres (C) agregamres (D) anfiomuysi
Ans — (A) prreemme

Who established a ‘Dravida Sangha’ at Madurai in 3™ century A.D.?

(A) Raja Nandhi (B) Vajra Nandhi (C) Vajra Velu (D) Simhu Nandhi
Ans - (B) Vajra Nandhi

S 3 b HIBBIENIgeL WwHmyulsd FHmell FhisHmsd CoHrBmielsHHeT wimrr?

(A) 5122 b3 (B) sugzzdy pibg

(C) oughedly Gougyi (D) v g

Ans — (B) sugzedy g

Road safety week celebrated in Every year in the first week of which month?

(A) December (B) January (C) March (D) August

Ans - (B) January

Prepared By winmeen.com

AWHEHTID 61hFH LOTHHHE (PHEL QUTTID FTeN60 LITHISMIL| UTTIONS HewL LNg&H S ILIGSBE?

(A) &L (B) ggeureu (C) wris (D) aymeror
Ans — (B) gaeureurf

Education is
(A) Consumption good (B) Investment good
(C) None (D) Both

Ans - (D) Both

Hevedl 6TETLIHI @

(A) mIsTayl LI LD (B) epsusheniil  LIswL LD
(C) armieyHsvemev (D) Sremi®GLo.

Ans — (D) &remiBGLD.

Consider the following statements

Assertion (A) : Team Indus, space craft will begin its mission to Mars in December 2017
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Reason (R) : A second chosen experiment from the central university at Pondicherry has
been chosen for the mission.

(A) (A) is true but (R) is correct explanation for (A)

(B) (A) is false but (R) is a correct explanation for (A)

© Both (A) and (R) are false

(D) (A) and (R) are true. But (R) is not a correct explanation for (A)

Ans- (C) Both (A) and (R) are false

LsTQNBLD  FnBBIGBemeNT  H6l6T b

amum (A) Tlelb @6 e eflewidevld eUHID 9FIDUT 2017 Diedip Heig QFsieumul Ssll
LWIemTSHend SNBSS MBS,

smyewid (B)  : @bs el LwemsSHeo wBemrm ufGarsemenuns LTeigFCaf 1oHau
LsVBMeVS BISHIHe dpflellwsd spulen Osfle Gauiwliul BeTeng.

(A) (A) s emmed (R) (A) damenr Fflwimesr  eflené Lo

(B) (A) soum1, auemed (R) (A) dsmenr gflwimen ellenebsIom@Ld

(C) (A) wipid (R) BraiGBL Heoumi

(D) (A) wigp (R) @reaipio afl. syemmev (R) (A) dsmen aflwmen ellendsd el

Ans - (C) (A) wppio (R) Brem®Ge el

Who founded the ‘Bahiskrit Hitkaraini Sabha’?

(A) Dr. Radhakrishnan (B) Dr. Rajendra Prasad

(C) Dr. Ambedkar (D) Dr. Annie Besant

Ans - (C) Dr. Ambedkar

USRS (HHH SBTTTewI  FLTEN6U DHEMLDSHHAIT

(A) LrsLT. @rerdmedemnie (B) LisLir. Syrémpadr Wrens

(C) LrsLir. onpBughsit (D) LrsLi oiehieGugei

Ans — (C) LrsLir. SibGugasit

When did Sathyamurthi became the mojor of Madras?

(A) 1935 (B) 1939 (C) 1949 (D) 1925

Ans - (B) 1939

OF6iTement LOTHTWISHBHE CLOWITTS FHHWAPTHE 6hdH 6B LGS CuiBmTT?

(A) 1935 (B) 1939 (C) 1949 (D) 1925

Ans - (B) 1939
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47.

48.

49.

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

Where was First Tamil Printing Press established in Tamil Nadu?

(A) Madurai (B) Chennai (C) Erode (D) Tarangambadi
Ans - (D) Tarangambadi

SIODBTL QL (PSH60 SO DFFHID 6IMIEG GHTLMAIBLLLL &7

(A) wgieny (B) Gasiiemen (C) Gy (D) spmisibLTy
Ans — (D) symisibLtg

Who is the National Development Council Member?

(A) Chief Minister (B) Finance Minister ~ (C) Defence Minister (D) Home Minister
Ans - (A) Chief Minister

Cxdw ewenitddd @Gupellsn o mitinfenr wmir?

(A) wrHlev  (pH0RITEET (B) P& oiewwsa

(C) urgusmiiy Siew&FsT (D) 2_6iigionm  Siem0FSFT

Ans — (A) wrBlev (LPHELRITEHEIT

3 years ago the average age of a family of 5 members was 17 years. After a baby born, the average age of
the family is the same today. The present age of the baby is

(A) 1 year (B) 1 Y% year (C) 2 year (D) 3 year
Ans - (C) 2 year

APSI QUL MISEHEG (Pl 5 BUT GETeNiL GOBusbs e grmafl suwgh 17 QIBLBEIST. QM GLHOSH
Umbs Ll oib@GbwusHen Frmafl euwsid 6% S eaed EGWHenSUulen SBEUTEHSW eI

(A) 1 sugpLid (B) 1 Y2 sugpL_rusmseit (C) 2 sugLmismei (D) 3 eu(pLbimsit
Ans - (C) 2 augpLmiseit

The simple interest at 5% per annum for 5 years will be Rs.5 on a principle of

(A) Rs.5 (B) Rs.500 (C) Rs.200 (D) Rs.20

Ans - (D) Rs.20

QM eeBE& 5% selaly oD 5 UbHEHEDHEG SHalallly 0.5 saled DiFeder WA wrg?
(A) .5 (B) 5.500 (C) @.200 (D) .20

Ans - (D) .20

The Newspaper “New India” was started by

(A) Gandhiji (B) Bharathiar (C) Annie Besant (D) Gokhale
Ans - (C) Annie Besant

‘Buy, @bAWT’ 6163 QFUISHHTEMENT [BL HIHUISIT
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(A) srhad (B) umggSwimir (C) stienll Qs (D) GarsBev
Ans — (C) sisiiaflQLgsi
50. Who is called Martin Luther of Hinduism?
(A) Swami Dayanandha Saraswathi (B) Swami Vivekananda
(C) Ramakrishna Paramahamsa (D) Rajaram Mohan Roy
Ans - (A) Swami Dayanandha Saraswathi
‘QbFH FOWSHSHO OTTL 16T SUTSHT 6160 DHEMLPSHBLILIHLIGUT
(A) soumd swinenps Frerves (B) oumifl  6MGoussmanibmi
(C) @ymodmapen LIFaBLDET (D) @yregmgmid Guomee FmUl
Ans — (A) seumd HWnelbs FJeroess)
51. The group which is not included in Five Kingdom classification is
(A) Gymnosperms (B) Protozoans (C) Viruses (D) Fungi
Ans - (C) Viruses
MbHIVS UmSLIUTL 1960 BFThaiuLTgh Lifley
(A) 2ibGenmero@LITDS6IT (B) LBym_GLrGameusim6N
(C) emeugeroemeit (D) yehemassit
Ans — (C) smaugeromsit
52. Consider the following statements.
I. The tail of the Comet is seen in the North direction of the Sun.
I1. The tail of the Comet is seen in the West direction of the Sun.
I11. The tail of the Comet is seen in the opposite direction of the Sun.
IV. The tail of the Comet is seen in the South direction of the Sun.
Which of these above statements is/are correct?
(A) land 11 correct (B) I only correct
(C) Il and IV correct (D) IV only correct
Ans - (B) Hll only correct
BIPHHEMIL  QUTHBIIBIGHEN6TTD  HEI6M.
l. eumed BU FHATHA6e euTed 6IIBUTHID GTweHE el SHenaFulsd Siewiouib.
Il. sured B FHATHHT aured 6rIGLITHID Gflwenisd GCoBE SHemFuled DlenouLb.
. eumed B FHATHH6T aumed 6IBLTHID HAWebE THT HenFuled Siewouib.
IV. eured BLFHHTHA6 aumed sIBUTEHID GAwebE 0HBE HeamFuled SiemLoub.
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53.

54.

55.

56.
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CuoBmeni_ FnmmiBelsd sigi/etenen &M?

(A) I oppio 11 correct (B) Il o @ &
(C) I ommub 1V correct (D) IV 1o o &l
Ans - (B) I oG gl

In a group of buffaloes and ducks, the numbers of legs are 24 more than twice the number of heads. What is
the number of buffaloes in the group?

(A) 6 (B) 8 (C) 10 (D) 12
Ans - (D) 12

SIHEBIBEDHD, QUTHBHIBEDHID 2 616N @R Fnl LHIH6V HT6OHEMT QUOTHS  6T6UT6mNHENBUITENH.  HENEVH6IT6
B mLBEMENL 24 DHHD elalled DbDH Fnl L HFH60 2 616N 6THHIH6IM6I  6T6vT60NHEND 61651601

(A)6 (B) 8 (©) 10 (D) 12

Ans - (D) 12

Find the value of (343 x 343 x 343 —113x 113 x 113/ 343 x 343 + 343 x 113 + 113 x 113)

(A) 230 (B) 330 (C) 430 (D) 530

Ans - (A) 230

(343 x 343 x 343 - 113 x 113 x 113 /343 x 343 + 343 x 113 + 113 X 113) 6ir 10&\16mLIG 6w,
(A) 230 (B) 330 (C) 430 (D) 530

Ans - (A) 230

“Royal Cancer Hospital” is the place where Dr. Muthu Lakshmi studied about cancer. Where is it?
(A) Chennai (B) America (C) London (D) ltaly

Ans - (C) London

LISLT (pHEHIeol &HIO LighHsh @ ID Jrusd LBBICHTUI o(hSHHIOIDmeT E&HI 6ThIG6Terng?

(A) Qasiienen (B) oiGwfgbem (G (D) @516

Ans — (C) sveuirL_eir

In what condition the members of the Lower House of the parliament is elected?

(A) By Secret Vote (B) Universal Adult Suffrage

(C) Single Vote (D) Cordinal Vote

Ans - (B) Universal Adult Suffrage

LUTTTEBLOGTBHSIH S Sieney 2 mIlnlanTaeT sibdH SigliLient ulsd CHTHOHBHSLILIGSMTTSH6T?
(A) 188w auTHG, (B) suwigl aubBsHit aurds@fenio

(C) obens auTdE (D) ustienio euTdHE
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58.

59.

60.
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Ans — (B) sawwigl aupBsi eurs@flento

Trypanosoma Gambiense causes

(A) Kala — azar (B) African sleeping sickness

(C) Skin leishmaniasis (D) Amoebic dysentery

Ans - (B) African sleeping sickness

fAUuGeT@amom GsibLiwieierd gBUBSHHINIS]

(A) smeor ongT (B) eyiifiss anos elwird)

(C) Bpmsd eServBuosiwirdlerd (D) subidwrdlerd

Ans - (B) syiflés srés elwndg)

According to the latest census estimate the number of mammalian species types found in India
(A) 4,100 (B) 20,000 (C) 4,200 (D) 4,000

Ans - (A) 4,100

@pAHwrelsd HBHTEL HemdCHBLLIILIY STEILBL LITETL Q&6 alendoelllei slewmentdend
(A) 4,100 (B) 20,000 (C) 4,200 (D) 4,000

Ans - (A) 4,100

A rectangular swimming pool 60m long, 40m wide and 1.5m deep is to be tiled. If the side of the square
tile is 50cm. Find the number of tiles needed.

(A) 10200 (B) 10800 (C) 20400 (D) 20800
Ans - (B) 10800

QM OFaIas BHFFL BT QU6 [HeMD, G0 WBHID pb  wempBw 60 15, 5 15, 1.5 Ib.
RHOFHM 195H@E L6060 UHDHH, 50 OF.I5 UHHBID QBT FHIT MLV 6IHHmen CHemaulILIBLD?

(A) 10200 (B) 10800 (C) 20400 (D) 20800
Ans - (B) 10800

The daily wage is increased by 15% and a person now gets Rs.23 per day. What was his daily wage before
the increase?

(A) Rs.10 (B) Rs.15 (C)Rs.20 (D) Rs.30
Ans - (C) Rs.20

@@m bufer Sendamedenw 15% o wirtHHwsTed DT @h. 23 QUBBTT ereflsd, 2 WTHSUILBUSBE (LP6iL]
ST QUTRISIL HleidHdmel  6T6)66T6)?

(A) e5.10 (B) .15 (C) m.20 (D) e5.30
Ans - (C) .20
Which country has won the 2016 Kabaddi World Cup?
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62.

63.

64.
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(A) Sri Lanka (B) Iran (C) India (D) China

Ans - (C) India

2016 b Syewngelt © 60ak &HLiguisd Gsmilemuenul Geueiim BHTIH 6157

(A) ufevriiesm (B) mymein (C) @pgiwm (D) &em
Ans - (C) @pglwr

Asoka Mitran received Sahitya Acodemy award for his famous Book

(A) Friend of My Father (B) Water

(C) Once in My Life (D) Today

Ans - (A) Friend of My Father

————————————— QP HFHBHTH FTHEHHAW STLLO elmHlener DCFTHOGTT LB HHE BT
(A) aiwurelenr HGanadHiT (B) sewranfit

(C) ampalGeo @@m wWems (D) @oimi

Ans - (A) aiurels &GsaHit

Which of the following statement about ‘Hubble Space Telescope (HST)’ is false?
(A) H.S.T is a space telescope designed with two hyperbolic mirror

(B) H.S.T is collaborated between European space agency and India’s ISRO

(C) H.S.T measures the rate at which universe is expanding

(D) H.S.T estimate the age of the universe

Ans - (B) H.S.T is collaborated between European space agency and India’s ISRO

amliyer euten GmmeneuBrmaal  (Hubble Space Telescope) HST umpluw Sipsemi snpmiseilsd  SHeoumreisi
6117

(A) HS.T. @® eieusnsiil SyIgH6MTe0 aIQaIENIDGBLILL L ¢ 6uTel QHTene0BH TS

(B) H.S.T. xGrminiw eemiQeusll smwowid wimid @pdwirelssr 1ISRO gal B (1pwBWmed geuliul L STELD
(C)H.S.T. siewtiip eiifleusnluwiid eibdHmd HemisHBEBE.

(D) H.S.T. siewin_sdlenr auwiglenssiss sHomflbBma.

Ans - (B) HS.T. oGmiuiw  eleniQeued  emwowid  wpmitd  @hHwrelst ISRO sal G (pwibdlwmso
gJeULILIL L SHTGLD

A person A does 500 J work in 10 minutes and another person B does 600 J of work in 20 minutes. Let the
power delivered by A and B be P,and Pgrespectively. Then

(A) Pa=Psg (B) Pa>Pg
(C) Pa<Pg (D) Paand Pgare undefined
Ans - (B) Pa>Pg
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65.

66.

67.

68.
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A et @meum 10 BO &0 500 J Gauemev OQFuIEBIT. B 6t6biB  oBOmTmeuT 20 HOLHFHed 600 J
Beusmev OFuidmnr. A wpmid B Oeiefles Qstewihbs Hmsi (pewm6ul

(A) PA: PB (B) P/_\> PB
(C) Pa<Pg (D) Paand Pgare undefined
Ans - (B) PA> PB

If the price of an item is increased by 30% and then decreased by 30%. The final price compared to original
price is

(A) 9% less (B) 0% (C) 91% more (D) 91% less
Ans - (A) 9% less

@® Qurmeier eflewsv 30% i Linn G et 30% @pésaiiGHnBs. Bmid ellensvenul SToL alenevu L 6
QUIGS.

(A) 9% senmey (B) 0% (C) 91% gaBmHev (D) 91% @emmey
Ans - (A) 9% @enmey

The population of village is 55,000, 40% of them are men, 35% of them are women and the rest are
children. Find the number of children?

(A) 12,000 (B) 12,500 (C) 17,500 (D) 13,500
Ans - (B) 12,500

QM AIToHHe 1bHH6T QHTemas  50,000. SiauTseflen 40% syemimet, 30% OuemiasT, WBHD o _eT@emmit
GLHMBEH6, 616360 DbHH HITOHH6V GHLOHNSHHEIT6I  6T6wT6mNHENBMUIS BT 6T,

(A) 12,000 (B) 12,500 (C) 17,500 (D) 13,500

Ans - (B) 12,500

Who is the Chair person of ‘Niti Aayog’?

(A) President  (B) Prime Minister (C) Vice President (D) Supreme Court of Judge
Ans - (B) Prime Minister

BHdH Buimd HemeveuT wImir?

(A) ggennglug) (B) Jgso wpsif

(C) mwewt GuITaHdH SHemevauT (D) o_&g pdioss BHLH

Ans - (B) Uysio opaAM

In many countries ‘Poverty Lines’ are measured through the level of

(A) Nutrition (B) Population (C) Per capita Income (D) National income
Ans - (A) Nutrition

SI6pae BIGH6NL “aunInECHTH” BHewen SlglenL WiTHH BTG SenalL LGS BSHI.
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(A) 2811’ FFHH (B) wés6it OHmens

(C) sefipu suBLOTEID (D) BB euHLOTEID

Ans - (A) 211 L F5 g

“Go back to Vedas” was the motto of

(A) Swami Dayananda Saraswathi (B) Ramakrishna

(C) Vivekananda (D) Raja Ram Mohan Roy
Ans - (A) Swami Dayananda Saraswathi

‘Bougpmimenen BpTHHF GFsd’ e16m FnpslulelT

(A) soumd swinenps Frerves (B) grodmargemrm

(C) eNGousmempsir (D) gregm gmb  Gomesesrymul

AnNS - (A) seumd HWmebsh FFeroeudd)

The Indian constitution came into force on

(A) January 26™ 1650 (B) February 26™ 1950

(C) August 26™ 1950 (D) March 26™ 1950

Ans - (A) January 26" 1650

b SiFflweveniolil] BeoL (PenBLULBSSLILIL L. 6m1([H.

(A) meeufl 26, 1650 (B) diugeuir 26, 1950

(C) symaror 26, 1950 (D) wnitg 26,1950

Ans - (A) gereufl 26, 1650

‘DANDEHAR and RATH’ estimate the value of the diet with minimum level of consumption
(A) 2000 calories (B) 2250 calories (C) 2500 calories (D) 2750 calories
Ans - (B) 2250 calories

‘HICL BT 1oBBID BITH’ DieUTHeI6N HMBHEL Q6L DASTBTL GHMBHSHENE)| [HIHT6)]

(A) 2000 &Gsom (B) 2250 &G@svm (C) 2500 &Gsul (D) 2750 &@svm
Ans - (B) 2250 s@svril

The sum of the ages of a son and father is 72 years. After 12 years the age of the father will be 3 times that
of the son. What is the age of the son now ?

(A) 12 (B) 22 (C) 14 (D) 16
Ans - (A) 12

0&6T  oBEID SHelilelles HBEUTMHW U6 dnl BHOHTME 73, 12 auBLBISEDRSEG LIB@ SHaliLee
QUG 1DEHN6T aIUIFSED 3 IDLMIEG 6I6mTey, Lo&hefllsl HHBOUTMSHUI QILINS HT6EmISw.
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(A) 12 (B) 22 (C) 14 (D) 16
Ans - (A) 12

Bharti Airtel, the largest private wireless communication network operator in India will acquire business of
another mabile network operator based at Gurgaon, Haryana. What is it ? What is its former name ?

(A) BSNL — (Bharath Tele Communications) (B) Idea — (Motorola Communications)
(C) Aircel — (Cell One) (D) Telenor — (Uninor)
Ans - (D) Telenor — (Uninor)

@bdHwmrelsn WslGUfw SDulsveor HEausd QHTLTL HeflwmT Bpieusrorer UTFE TG sd emfluimet
M6V GTHMalsd QUuIkiG LBEBTH OFHTLIY Poeusmsd BWSEILUGHSH DHEIBH.  SibHHBICITD
6157 UHeh Uempwl QUIWIT wimg)?

(A) 11 eterd et 6160 - LMYS Gl BIbuyeNGHag6T6rD
(B) egiguir — Guom’ GLr@ymeor  &ibueaf Guingeierd

(C) gi@gsd - QFed @it

(D) QLedprT - wpesipmT

Ans — (D) GLedprT - uyefliprT

Indian Council of Historical Research is going to undertake an archaeological exploration to find a
monument whether man made or natural. Name the monument

(A) The Great Barrier Reef (B) Adams Bridge
(C) The Sundarbans at Bengal (D) The Dolmen’s caves
Ans - (B) Adams Bridge

@bHU  uITeuBE  UISD  BHISID T  DHeweaF  Heiiend  QUIBNBWTEIHT — DIGV60FHI LD HT6L
® HOUTHSULLL ST 6l6ilms Sl @ OFHmevelwlsd SisbauTuley GFULIWLCUTEBE. DUbHSH Henseys
Fevtearid 61517

(A) wrEu@GD LeuelILmBS S L (B) summip umsvld

(C) aukimsTenSHeit FHIL B60HHTHH6IT (D) Lebioai @ enebmsit

Ans - (B) susmib  uimeotd

After the Second World War who came to power in England

(A) Clement Atlee (B) Sir Stafford Cripps

(C) Sir Jhon Simon (D) A.V. Alexander

Ans - (A) Clement Atlee

@rewiLmbd 2 60sll GUTmEB@GL 6T @mhISeomhaled WITT Hemevsniouled U & SIemIDbHSHSEI.
(A) dempoemi. o680 (B) &ir. eroLm@umity Afierd

(C) sir.mgnent enF 16w (D) AV. oiQ6uébaFmemiLiT
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Ans - (A) Sermoewi 160
76. Who started the forward Bloc party in 1939 ?
(A) Subash Chandra Bose (B) Pandit Jawaharlal Nehru
(C) Sardar Vallabhai Patel (D) Subramaniya Siva
Ans - (A) Subash Chandra Bose
1939 60 ‘WpBBuTHE S denul’ QFHTLmAISWIeT
(A) sured FHAHTGLITErD (B) uswngr. seuamievned GHH
(C) gt eusbeoumus LI BGL 6D (D) atiyosmfiluws deur.
Ans - (A) suted FHSHIGLITErD
77. Match the following :

(a) Jawahar Gram Samriddhi Yojana 1. 2000 — 2001
(b) National Social Assistance Programme 2.1993
(c) Employment Assurance Scheme 3. 1999
(d) Pradhanmantri Gramodaya Yojana 4. 1995
@ ® @© @
(A) 3 1 2 4
(B) 4 3 1 2
© 3 4 2 1
D) 2 3 1 4
Ans - (C) 3 4 2 1
CUTHSSHIS
(2) meust Ao GeuemeveuTulliLg &I LID 1. 2000-2001
(b) BTG Faps 2 _Helld SLID 2. 1993
(C) Gousmeveumuing 2 _mdHdH S b 3. 1999
(d) ysoflenr Geusmeveumuiigg & L 1b 4. 1995
@ ® (@© @
(A) 3 1 2 4
(B) 4 3 1 2
() 3 4 2 1
D) 2 3 1 4
Ans - (C) 3 4 2 1
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Find among the sets of projects given below, fully supported by Japan International Cooperation Agency in
Tamil Nadu

(i) Metro Rail Phase I, Hogenakkal water supply and Urban Health Care

(if) Metro Rail Phase I, Kaveri Drinking Water supply, and transmission system improvement

(iii) Investment promotion programme, Urban Infrastructure and Chennai — Bangalore Industrial corridor
(iv) De-Salination plant, classical Tamil Etymological project and Chennai Peripheral Ring Road project
Find the answers from the options given below.

(A) (i) (ii) and (iii) (B) (i) and (iii)

(C) (i) (iii) and (iv) (D) (iii) and (iv)

Ans - (B) (i) and (iii)

&0 CaThHHsUILL(BeiTen HOpd pdlsi aueniTFdldh HLmselsn OHT@GUL S0 oliumer BT B
ueTenTl B @SSP (PpHemouled (Pl 2 Sallenwiud QUBID QHTGLLBMmeT SHemiBLIgSHS

(i) Qo Bymr guled HLb - |, CaBT@sambssd BT DML, BSTIYB 2 L 60 BHEOUILTHISTLIL

(i) Qor Gym yulsd & Lid-1l, &1Ceufl @GloBT Siefliy, BSHTIB 2 160 HEOUILITHIBTLIL

(i) pm6e5G ewenTFHH H LD, BSIIYB B LML, CFaTener-QLkGEEHT OHTIBLT eulf

(iv) sL6d Benr &lg BITGEGID HLb, OFalanfs SOM GFTealwsd pules SHi LD, OFeimer &HHBHI
QL L &STEn6L.

&0 GaThssIULBeiTen @GMluibsemedmbal Fllwrer sl enuwid BHTHOHM.
(A) (i) (i) wibmio (i) (B) (i) wimid (iii)

(C) (i) (iii) wpmid (iv) (D) (iii) wpmd (iv)

Ans - (B) (i) wppno (iii)

K. Kamaraj tendered regisnation of chief ministership in 1963 due to

(A) K. Kamaraj Plan (B) C.N. Annadurai Plan

(C) M. Karunanidi Plan (D) M.G. Ramachandran Plan
Ans - (A) K. Kamaraj Plan

1963-60 B&H.BMOFTEY  -------m------- SIS HOBH (PHEVMIDFFT LUGHelenul GImedenmion CQFUISTT.
(A) Gs. ®mopTey & LID (B) C.N. oiesiemingieny &\ L1b
(C) M. smeumm¥a) s Lib (C) M.G. @ymwahAyen SiLib.

Ans - (A) Gs. &TopTey & LID
Number of elected members to Lok Sabha from union territories is

(A) 16 (B) 13 (C) 14 (D) 15
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Ans - (B) 13

oWl P Al uGHUNIMHBH CHTbHI 61HGBHLILLL  DHHeTeNal 2 MILILN6TSHET  6160T6w015H6M D

(A) 16 (B) 13 (C) 14 (D) 15

Ans - (B) 13

Consider the following statement.

Assertion (A) : Air currents in the upper layers of the atmosphere is known as Jet streams

Reasoning (R) : It determines the arrival and departure of monsoon winds in India.

Select your answer.

(A) Both (A) and (R) are true (B) Both (A) and (R) are false

(C) (A) is true but (R) is false (D) (A) is false but (R) is true

Ans - (A) Both (A) and (R) are true

BIDHHEMIL QUTHBIUIBIGHEN6TSH  HEI6M.

apm (A) : oUeMLDEIIL 60 @ WIT DiBBGHB6M60d STeiILuBD STHBEBIL LD Gl STHBEBI LD
6T6OILILI(HLD

smyewid (R): @ésmbemrl L @bswmelsr Lmads sSMBifiear OB _SHD OBEBID (LPIeIeHL_U|D
BT0HMS HiTenuilbaSmal.

Qeumpieir eig &l et6  SHiToTENN BB LD.

(A) (A) wpgio (R) Brem@o & (B) (A) wpui> (R) QrediG Housi

(C) (A) ol syemmed (R) Heumi (D) (A) poumi syemmsd (R) &

Ans - (A) (A) wigip (R) @remiGo g

The river that originate from the Aravalli ranges is

(A) Chambal (B) Narmatha (C) Luni (D) Tapti

Ans - (C) Luni

UTeU6V60  DEMEVSHOHTLIMl6L © BLSSHWITGID HI

(A) Fmibusd (B) mitogm (C) surend (D) sud

Ans - (C) gumend

HCF of 3240, 3600 and a third number is 36 and their LCM is 2*x 3°x 52x 72. The third number is

(A) 2°x 52x 7 (B) 2°x 3°x 7? (C) 2%x 53x 72 (D) 22x 3°x 7°

Ans - (D) 2°x 3°x 7°

3240, 3600 wBpGwT®m apsimreug eem eydwesuper HCF oiemis 36 wpmpid oweupslsii LCM eyeg 2*
X X 5°X 7%, aiafled SibSH apeimIeus) eTevt 61g?
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(A) 2°x 5°x 7 (B) 2°x 3°x 7° (C) 2°x 5°x 7 (D) 2°x 3°x 7°
Ans - (D) 2°x 3°x 77

A shopkeeper mixes 20 kgs of rice which cost Rs. 5 per kg with 35 kg of rice which cost Rs. 7 per kg. Then
he sells the mixture at Rs. 6.50 per kg. Find his profit percentage.

(A) 3% (B) 3 40/67% (C) 4 34/69% (D) 3 43/69%
Ans - (D) 3 43/69%

QM SOLBBMT  HTelLld @ mhd 0h.5. SLds  eleweowjsien 20 &  ofldepwwd, 0.7 DILHS
allemeoulsiten 35 &Beomr SNFenWD @AIBTE HevbhGH HB6ur 5.6.5056@ IBBTL DIUHDBEG FeML HELD
BeoTLS A6 FHABID 61601600 ?

(A) 3% (B) 340/67% (C) 4 34/69% (D) 3 43/69%
Ans - (D) 3 43/69%

When the World Literacy Day is Celebrated ?

(A) 8" March (B) 2™ October (C) 8™ September (D) 5" March
Ans - (C) 8™ September

2 608 6I(pSHBNM6Y SHleud GlETewrLm LB BI6T 61%I?

(A) 8eugl tomird (B) 26us1 o18GLTUT

(C) 8eugl Qeri_tbLiir (D) seu&1 omiE

Ans - (C) 8eugl Qati_tbui

When was India divided into many states on linguistic basis ?

(A) 1949 (B) 1950 (C) 1956 (D) 1996
Ans - (C) 1956

Quryl siglinenLuisd @baHwT eTlOUTIREI Lsv oTHlevmsemTall Lifldsiul Lg?
(A) 1949 (B) 1950 (C) 1956 (D) 1996
Ans - (C) 1956

Sperms collected and stored for invitro fertilization in

(A) Liguid Oxygen (B) Liquid Nitrogen

(C) Liguid Nitrogen (D) Solid Nitrogen

Ans - (C) Liquid Nitrogen

CHFTHMEMBGIOTUT GLHNHEET 2 _HaITIHBEG MbHbHeT CFOSSILIGAILI.

(A) Sreu o denI e (B) #yeu  Limerouiyerd

(C) Syon ewpLyeges (D) 8L bl yezeh

Ans - (C) Syeu enbLyeges

Install Winmeen Mobile App : https://goo.gl/s3YY9V Page 24 of 28




General Studies Prepared By winmeen.com

88.

89.

90.

91.

92.

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

The plasma protein which helps in blood clotting is

(A) Globulin (B) Albumin (C) Fibrinogen (D) Certinine
Ans - (C) Fibrinogen

QrHHD 2 _OBHNNGG (PHHUW LURIG udSd@GD LIenmmeror LysLb

(A) &B8smLieleir (B) sysopblear

(C) ewuiiMGeurmegeir (D) @flwim 1gesein

Ans — (C) ewuiif@eurmegeir

A and B can do a work in 12 days, B and C in 15 days, C and A in 20 days. In how many days will they
finish it together ?

(A)8 B)9 (©) 10 (D) 11
Ans - (C) 10

@ Gausmevenwt A wpmid B 12 prisefeud, B wsmid C 15 prisefed, C wimid A 20 Brlsefllsd
WPQUILTSST. cpalBlD CFTHEHI Di6HCaIMEVMW (PIpHE 616)6I6NT6)] BT H6T HPGHD?

(A)8 (B)9 (©) 10 (D) 11

Ans - (C) 10

Sum of all 2 digit natural numbers which are divisible by 7 is

(A) 777 (B) 1728 (C) 1777 (D) 728
Ans - (D) 728

gJIOT60 I@GLIBID 6T606VT ET60TIp60HhH S)UI6D 6T60IHB6MM6T Fnl (B LISV WITEHI?

(A) 777 (B) 1728 (C) 1777 (D) 728
Ans - (D) 728

How many types of birds in Tamil Nadu has been reported in the recent birds survey ?
(A) 323 (B) 333 (C) 343 (D) 353

Ans - (C) 343

FUSHW DIMBMHBUTET LIy HOIPHHH6D 6THHMEN 6lHBH  LIBenauulembissT il Heiermen?
(A) 323 (B) 333 (C) 343 (D) 353

Ans - (C) 343

Swachh Bharat Abhiyan is a Campaign by the India towards what ?

(A) Cleaning the streets and Road (B) Electrification of villages

(C) Literacy to all (D) Women employment

Ans - (A) Cleaning the streets and Road
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sl F umyd olwner steiip LgFamyo @bhSHw gFTed OoEmemi(h suglill L &l 6THBHTSH?
(A) OxmEBH6T OBEBID FTENHMET FHHID CFUIH60

(B) Aymngded Osmelende GUTHEHM

(C) oimanaumb@d Hevall i6rild a0

(D) wseiimdE Gaieneo eumuli SieMdaHe0

ANS — (A) OMmBH6T BEHID FTEN6OHMENT HHBID CFUIHED

What is the IUPAC name of isobutyl alcohol ?

(A) 2 — ethyl — 1 — propanol (B) 2 — methyl — 1 — propanol
(C) 1 —ethyl — 2 - proponal (D) 1 — methyl — 2 — propanol
Ans - (B) 2 — methyl — 1 — propanol

mBam il en6v sumamreden IUPAC Quuwi sresen?

(A) 2 — ers860— 1 — yyliemmed (B) 2 — Qugalsv — 1 — propanol
(C) 1 - e1g860— 2 - yyliesTed (D) 1 — Guggev — 2 — propanol
Ans - (B) 2 — methyl — 1 — yyiiesmed

The term basicity means

(A) Number of replaceable hydrogen atoms in one molecule of an acid
(B) Total number of hydrogen atoms in one molecule

(C) Number of replaceable hydroxide ions in one molecule

(D) Total number of hydroxide ions in one molecule

Ans - (A) Number of replaceable hydrogen atoms in one molecule of an acid
BTTHHIOND 616518 LIHSHHe  QLIT[H6IT

(A) o weddp  leodHar 2 slen  @LUOUWTEFS  OFUILbdalgul  DHEUBL FEQ6s
6T6uITEmT 6B

(B) @@ cpovddapiled 2 6itenn GLOTHS HEBL TE6H DIGWIHH6I6H  6T6wTenNobemd
C) @ apsvsdam @ NGUWITFS CFUILIGIIQUI mEBL TTHEMEFG Diuleloeries  slewenlobemd

(D) @ cpevdbanpied o 6iien QoTeHs aBl JTHmFB SiuieisHeed sramieniobemd

Prepared By winmeen.com

DIl a61fl6s

Ans - (A) @m pevddam bevshdHe 2 sien G UOUWITFH CFUILIGIIQUI  HEUBL T  HIEmISHH6MM6

6160016001 S5 61 &

Sita and Geetha can do a job in 15 days and 10 days respectivel. They began to work together but Sita
leaves after some days and Geetha finishes remaining job in 5 days. After how many days did Sita leave ?

(A) 3 (B) 6 €)8 (D) 10
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Ans - (A) 3
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M Gousmevenwt FHT 15 BT &6eMevd &SHT 10 BT G6MEID (LPQLILITTE6T. SMmaumd CFTbhaH Geuensvsnul
CaTLRBWSHID v BTLSEHSEGLLIBG FoHT OFaim ol Lrel, s 2o 6tem  Geouemsvenl &SHT 5

BT &6il60 (LPIQSHSHTeN 6T6IBT6D, FHT 6T6laN6Te)] BT &6 HPNHHIF CFenmpmet?
(A) 3 (B) 6 )8 (D) 10

Ans - (A) 3

Recognised official language of India are

(A) 25 (B) 23 (C) 22 (D) 27

Ans - (C) 22

AbHwmelsd DMISHMNEHILUL Disvieey GILOmLHEei

(A) 25 (B) 23 (C) 22 (D) 27

Ans - (C) 22

The Right to information Act was passed by the parliament on

(A) 12" October 2005 (B) 21* October 2005
(C) 12" October 2006 (D) 21* October 2006

Ans — (A) 12" October 2005

HlEaIsd P o fenwd FU LD UTITEHLOSIBES BensGauBmll L 366

(A) 1260z o1&6LmurT 2005 (B) 21oug oudGLmuir 2005

(C) 126ug1 =466@LmuiT 2006 (D) 216ug o&@Lmur 2006
Ans - (A) 126ug1 o1s@Lmur 2005

Which country found the world’s first floating solar power station ?

(A) America (B) Japan (C) South Korea (D) India
Ans - (C) South Korea

2 B (PFHL GHHGID Gflwl et Mlemeouwlld  iewiowill GUBB HT(H.

(A) o1GwfésT ( B) egiiuimesr (C) Oxenr Gamfluwm (D) @bgdwir
Ans - (C) Gmeir Gamfluim

Which one of the Bank is not listed in Bank fraud list is 2016 ?

(A) SBI (B) HDFC ©)ICcICl (D) Canara Bank

Ans - (D) Canara Bank

2016 et eumidBeflesr GomFlg UL lgulsdsd S 1D QUBTSH eumid 61g!?

(A) SBI (steroL1.e3) (B) HDFC (Qam&g.61e1.81)

Install Winmeen Mobile App : https://goo.gl/s3YY9V

Page 27 of 28




General Studies Prepared By winmeen.com
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

(C) ICICI (m.6.e0.8.) (D) ®emym  eurkid)

Ans - (D) sengr surbid)
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